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3 [IFRZYI7RE RTX1300 BGP/L—% ASR1 7L 2 3 3| SMF - UN
4 [IF R vIEE RTX1300 BGP/L—% ASR2 U 2 3 3| SMF FEA
5 |IFRYvI7RE ONU RTX1300 U 2 3 5| catéa UTP 1ERL
6 [IFRZYI7ERE ONU RTX1300 ZU 2 3 5| catéa UTP 1EBL
7 [IFRZYyI7EE RTX1300 1f-noc-crt01 TE2 U 50 75 75| SMF A
8 |[IFRYYIERE RTX1300 1f-noc-crt01 TE3 U 50 75 75| SMF FEA
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19 |1F EPSZE 1FEPS /Ny F 5F EPSZE HAE#R1 1f-eps-fsw01 {TE1 JJ 2 2 5| catbe UTP YERL
20 |1F EPSZE 1FEPS /Xy F 5F EPSZE HA[C#R2 1f-eps-fsw02 iTE1 JJ 2 2 5| catSe UTP 1ERR
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R 22 FRX

=) Catbe UTP ERR A2 >5xHIDA |Catba UTP ERR A2 25 HRlDH
e S 54 67 0 20 24 0
B 10 ) 10 0 0 0 0
o 20 16 18 1 0 0 0
&= 30 13 13 4 - - 0
= 40 15 15 7 0 0 0
7R 50 10 10 3 1 1
= 75 7 7 3 4 4
= 95 2 2 1 1 1

a5t 122 142 19 30 34
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